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INDIAN SCHOOL DARSAIT 

HALF YEARLY EXAM, SEP 2019 

MATHEMATICS 

Class: II   Sec : ______                                             Max.Marks: 25 

Date: 16-09-2019                                             Time: 1 hr 

Name :___________________________                                                                Roll No.______ 

 

General Instructions: 

i. Read the question paper thoroughly and attempt your paper neatly. 

ii. Marks are indicated against each question. 

iii. All questions are compulsory. 

Q.I  Fill in the blanks: 

 

6 X ½ = 3 

 a) 4 tens + 12 ones = 5 tens + ____________ ones 

 

 

 b) 

 
29 -                   =   0  

 

 

 c) 

 

The difference of 38 and 7 is _______________.  

 d) 

 

A carrot represents the shape of a _________________. 

 

 

 e) 1 less than 60 is _________________. 

 

 

 f) 

 

73 + 15 = 15 + _____________. 

 

 

Q.II  

 

Match the following shapes to the correct objects: 

 

4 X ½ = 2 

          

 

                                        

 

 

 

 

  

 

                                               

 

(i) ______       (ii) _______      (iii) ________     (iv) ________ 

                         

 

(i)  Sphere                                    a) 

(ii) Cube                                        b) 

(iii)      Cuboid                                     c) 

(iv)      Cylinder                                   d) 



ISD/II/HALF YEARLY/2019-20         Page 2 of 4 
 

 
 

 

                                                         

 

Q.III 

  

Choose the correct answer: 

 

6 X ½ = 3 

 a) The difference between a number and 0 is _________________________. 

 

 

 

 b) 

 

A __________________ has six flat faces. 

 

 

 

 c) 

 

10 less than 50 is _________________. 

 

 

 

 d) 5 taken away from 25 is  _____________. 

 

 

 

 e) A __________________ has three corners. 

 

 

 

 f) _________  +  30 = 40.  

 

 

 

 

Q.IV  Add / Subtract: 

 

5 X 1= 5 

   

a) 
T O 

 

     

4 

 

7 

 

3 

 

1 

 

 

 

 

T O 

 

     

3 

 

9 

 

2 

 

0 

 

 

 

T O 

 

     

5 

 

2 

 

1 

 

3 

 

 

 

4 

  

 

 

 

 

 

 

 

 

 

 

 

T O 

 

     

9 

 

7 

 

4 

 

5 

 

 

 

 

T O 

 

     

6 

 

8 

 

3 

 

8 

 

 

 

 

 

 

 

 

 

 

(i) same number (ii) 0     (iii) next number (iv) 1 

(i) cylinder   (ii) cube  (iii) sphere  (iv) square 

(i) 60   (ii) 50   (iii) 40   (iv) 30 

(i) 20   (ii) 25   (iii) 5   (iv) 30 

(i) circle  (ii) rectangle  (iii) triangle  (iv) square 

(i) 10   (ii) 20   (iii) 30   (iv) 50 

   b) 
   

c) 

                   

+ 

   d) 

                   

- 

                   

+ 

                      

- 

  e) 

    - 
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Q.V 

  

 

 

Complete the pattern: 

 

 

 

 

5 X ½ = 2 ½  

 a) 

 

21 ,   23 ,  25 ,   _________  ,   _________  

 b) 

 

50 ,  40 ,  30 ,   20  ,   __________  

  

c) 

 

 

                                                                     _________    __________ 

          

                                   

 

Q.VI 

 

 Find the sum:  2 X 1 ½ =3 

  

T O 

 

     

6 

 

9 

 

2 

 

7 

 

 

 

 

 

 

    

 

 

 

 

 

 

 

 

T O 

 

     

4 

 

5 

 

1 

 

6 

 

 

 

 

 

 

Q.VII  Count and write the number of standing lines, sleeping lines and slanting lines: 

 

3 X ½ = 1 ½  

   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

   a)    b) 

   + 
   + 

 

         a)  Standing lines ____________  

         b)  Slanting lines _____________ 

         c)  Sleeping lines _____________ 
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Q.VIII 

  

Colour the objects that can only slide: 

 

2 X ½ = 1 

   

                                  
 
   

 

 

Q.IX  Read the questions carefully and solve them: 

 

2 X 2= 4 

 a) 

 

A kite seller has 40 red kites, 31 blue kites and 17 green kites. How many kites 

 

T O 

 

     

 

 

 

  

  

 

 

 

 does he have in all? 

 

 

 

 

 

 

 

 

 

 

 

 

Ans : __________________________________________________________ 

 

 

  

b) 

 

Niya has 34 orange biscuits and 26 chocolate biscuits. How many  biscuits does  

 

she have altogether? 
T O 

 

  

  

  

 

 

 

 

 

 

 

 

 

 

Ans : _________________________________________________________ 

 

    

    


